2.7 multiplying integers 3

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Multiply.
1) 13(-14)
A) -195

2) 0(-17)
A) 17

3) -5(-5)
A) =30

4) -32(0)(-7)(10)
A)1l

5) 7(-1)(2)(-3)
A)13

6) -8(-8)(-8)
A) =502

7) -4(-8)(3)
A) 96

Evaluate.
8) (-2)3
A)8

9) -25
A)8

10) (-1)15
A) 15

B) -168

B) -34

B) 30

B) 0

B) -42

B) -522

B) -96

B) 2

B) 32

B) -15

B) 1

B) -49

C) 512

C) 196

D) 195

D) 0

D) -25

D) -32

D)8

D) -512

D) 86

D) -8

D) -32

D) -1

D) 16

D) 49

10)

11)

12)



Answer Key
Testname: UNTITLED3

C
2) D
3)C
4) B
5)C
6) D
7) A
8) D
9) D

10)D

11) B

12) B



